
9401 DW Low Bongo Stand

SM029

SP352

SP448

SP2003 SP983

SPQTH125

SP2019

SP364

SP711

SP353

SP481

SP444

SP756

SP755

SP451

SP986

Part Number  Description
   
DWSM029    3/8" DRUM KEY SCREW (4 PACK)
DWSPQTH125   RATCHET HANDLE
DWSP352    CLAMP FOR LEG ASSEMBLY
DWSP353    8MM DW WING SCREW
DWSP364    PLASTIC BUSHING 
DWSP444    SNARE STAND TRIPOD
DWSP448    PIVOT FOR 20MM ARM
DWSP451    SNARE BASKET ADJUSTMENT NUT
DWSP481    1.25" HINGED TRIPOD MEMORY LOCK
DWSP711    SET SCREW
DWSP755    WASHER 
DWSP756    WASHER 
DWSP983    1 5/8" STEEL WASHER
DWSP986    SNARE BASKET ADJUSTMENT SCREW
DWSP2003    8MM SQ.HEAD SCREW 4 PACK
DWSP2019    1" MEMORY LOCK

 
     

9401 DW Low Bongo Stand

Page 1 of  2

Page 2 of  2



9401 DW Low Bongo Stand

SM029

SP352

SP448

SP2003 SP983

SPQTH125

SP2019

SP364

SP711

SP353

SP481

SP444

SP756

SP755

SP451

SP986

Part Number  Description
   
DWSM029    3/8" DRUM KEY SCREW (4 PACK)
DWSPQTH125   RATCHET HANDLE
DWSP352    CLAMP FOR LEG ASSEMBLY
DWSP353    8MM DW WING SCREW
DWSP364    PLASTIC BUSHING 
DWSP444    SNARE STAND TRIPOD
DWSP448    PIVOT FOR 20MM ARM
DWSP451    SNARE BASKET ADJUSTMENT NUT
DWSP481    1.25" HINGED TRIPOD MEMORY LOCK
DWSP711    SET SCREW
DWSP755    WASHER 
DWSP756    WASHER 
DWSP983    1 5/8" STEEL WASHER
DWSP986    SNARE BASKET ADJUSTMENT SCREW
DWSP2003    8MM SQ.HEAD SCREW 4 PACK
DWSP2019    1" MEMORY LOCK

 
     

9401 DW Low Bongo Stand

Page 1 of  2

Page 2 of  2


